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Instructions for the Candidates

Write your roll number in the space provided on the top of
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This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: M) @ @ (@ where (3)is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
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Read instructions given inside carefully.
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If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Who among the following said that “post-behaviouralism was a genuine revolution, not a
reaction; a becoming, not a preservation; a reform, not a counter reformation” ?

(1) James Bryce (2) Charles E. Merriam
(3) David Easton (4) G. A. Almond

Who among the following said, “we can not shed our values in the way we remove our
coats” ?

(1) Leo Strauss (2) Alfred Cobban
(3) Jean Blondel (4) David Easton

Who among the following characterised early liberalism as “possessive individualism” ?
(1) F. A.Hayek (2) Robert Nozick
(3) C. B. MacPherson (4) Rawls

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Identify the correct answer.

Assertion (A) : F. A. Hayek portrayed state intervention and collectivism, even in their
moderate forms, as inevitably leading to an erosion of Liberty.

Reason (R) :  Heis a supporter of laissez faire and opponent of Keynesian economics and
the welfare state.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true
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(1) < 9" (2) =" g AR
(3) sfae e (4) ST Temie
2. freAfafed ¥ @ foe &e fF ' 30 3T qodi 1 39 TR T2 9IS Hohd SIY 81 3101 1 3ARA & 7
(1) foran =ra Q) TS TEA
(3) S =iied @) e f=A
3. freAfafed ® ¥ forer sRfve [RAR &1 ' Seeiyes Afaers’’ & 9§ fefud fean?
(1) THT BF* (2) e it
(3) Els. ARE (4) Tem
4. 9 HUA feu U E, TE w1 AURAT (A) 3R T I Teh (R) FET T T TS WK HI TeTH
HI
IURYT (A) : TH.U TS o STIHR ToF & S AR TS, 301 §ad weq ¥ o, frea<g
TSI T SRS L B |
T (R) : 3 ety =R % gaede § R wE & 1dvme 9o weaenT 59 & forief €1
%<
(1) (A) 3R (R) IHI T § 3R (R), (A) FT HE TR T |
(2) (A) 3R (R) T T E, T (R), (A) B FE TR T R |
(3) (A) ¥ g, T (R) IEA B
(A) TF B, T (R) ¥ 2|
pozs IHIIHIII\H\IIHIIH||||\|“|\||\||“|H|H||\||H||\|H|| ; Paper-n



10.

11.

Which one of the following statements is not true ?

(I) Marx drew distinction between “ideology” and “science’.

(2) Napoleon denounced ideology as cloudy metaphysics that ignored history and reality.
(3) de Tracy coined the term ideology.
(4) Daniel Bell talked of “ideology without an end’.

For whom, “ideas” and not the “material conditions of production” are the effective causes
of revolution ?

(1) Karl Marx (2) Lenin (3)  Engels (4) Stalin

Which of the following statements is false with respect to Plato’s ideas ?
(1) Division of functions does not rest on difference of aptitude.

2)  State is assumed to be merely individual writ large.

()
(3) Athenian women were not allowed to participate in politics.
(4)

Ignorance and incompetence of politicians is the cause of democracy.

Which of the following is not an expression of the constitutional rule of Aristotle ?
(1) Rule in public interest (2) A lawful rule
(3) A Government of willing subjects (4) Inconsistent with the dignity of the subjects

Who of the following said that felicity is “continued success in obtaining those things which
a man from time to time desires” ?

(1) Bentham (2) J.S Mill (3) Hobbes (4) Rousseau

Who of the following notes the existence of legislative, executive and federative powers of
the state ?

(1) Hobbes (2) Locke (3) Rousseau (4) J. Bentham

Which of the following is not an idea of Rousseau ?
(1) A thinking man is a depraved animal

(2)  Science is the fruit of idle curiosity

(3) Philosophy is mere intellectual frippery

General will is the sum total of wills
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12. For J.S. Mill which one of the following is not true ?
(1) Pleasures differ in quality
(2)  The felicific calculus is absurd
(3)  The principle of utility is the final end of life
(4) Liberty consists in doing what one desires
13. For Karl Marx who among the following is not a Utopian socialist ?
(1) St. Simon (2) Proudhon (3) Fourier (4) Engels
14. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the codes given below :
Assertion (A) : For Gandhiji, satyagraha is not identical to passive resistance.
Reason (R) : Satyagraha denoted a legitimate, moral and truthful form of political
action by the people against the Brutal state power.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A)is false, but (R) is true
15. Who coined the slogan “No control, no co-operation” ?
(1) Mahatma Gandhi (2) J.Nehru (3) Aurobindo (4) Subhash Bose
16. What is the correct sequence of the following characteristics of political development ?
(a) Capacity (b) Equality (c) Differentiation
Select the correct answer from the codes given below :
(1) (@), () and (©) (2) (b), (a) and (¢)
(3) (o) () and (b) (4) (9 () and ()
17. What is according to David Easton, the correct sequence of the following regulatory
mechanisms ?
(a) Socio-cultural norms (b) Communication channels
(c) Gate-keeping at the boundary  (d) Reduction processes
Select the correct answer from the codes given below :
(1) (), ©), (b) and (d) ) (© (@), (b)and (d)
(3) (), (b), (c) and (d) (4) (@, (), (a) and ()
vours AN ; —
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13. el A1 % fau fefafed § @S9 stesiac: gasee! 7@ g ?
(1) ¥ aEm (2) TSed (3) =R 4) Ui

14. = q weA feu T §, T FI TR (A) 3R T 1 ek (R) Fa T 7| A fu e el § @ we
IR HT I HITIC |
AR (A) ;ST % forn wemre sk fokiy & a7 ®

e (R) : TAWE ¥ aed 3 T T & fawg @i g/ fafaaera, faw ok v=arEge
REEIGERCACIER
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(1) (A) 3R (R) IH A ¥ 3R (R), (A) FT T&l TTEHIT T |

2) (A) 3R (R) T T €, TG (R), (A) FT TET TTETHI0T & T |

(3) (A) ¥ ¥, g (R) 3T9A T

(4) (A) A T, T (R) T T
15. o =y feon  frasor =€ o) Team =i’ ?

(1)  H&TcHT et (2) . 7"E (3) oRfdg (4) 9™ "
16. TsiiTden T st feAferfad fosivarst =1 @&t a1 e ?

(a)  &FF (b)  HHW () faddezo

= U T R § | W& W A A

1) @ b)) 2 @), @A(E) @) © @A(D) @) () (b) R (a)

17. 2fae $=a & R frafafea faftames a5 &1 @& w0 #=n g ?

(a) WMIH-HiERfaw fom (b) FER =TA
(c) T HIGT T T =gl (d) =eTe gfswa
= feu MU FH2 F1 TE FA G FE W B GO
(1) (@), (), (b) IR (d) 2 (9 (a), (b) I (d)
(3) (a), (b), (c) 3R (d) (4)  (d), (b), (a) 3 (c)
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18. Match the following and select the correct pairs :
List - I List - II
(Authors) (Books)
(a) Arend Lijphart (i) Comparative Federalism
(b) Thomas Hueglin (i) Comparing Federal System
(c) Giovanni Sartori (i) Patterns of Democracy : Government forms and
performance in thirty-six countries
(d) Ronald L. Watts (iv) Comparative constitutional Engineering : An Inquiry into
structures, incentives and outcomes
Codes :
@@ () (o) (d)
1 @) @Gv) @ ()
() Gv) () @) ()
() ) @ (@) (@)
@ @ () G ()
19. Which of the following statements is not correct ?
(1) Political culture is a set of basic political attitudes.
(2) Political culture cannot be empirically studied.
(3)  The study of political culture focuses on attitude of people and their likely effects on
politics.
(4) Political culture has a companion approach i.e. political socialisation.
20. In which of the following countries the residuary powers rest with the states/units ?
(a) U.S.A. (b) India () Switzerland (d) Australia
Select the correct answer from the codes given below :
Codes :
1) @and@© (@ ©@and(d) () @and(d @) (@) (© and(d
21. Which of the following statements are correct ?
(a) Cabinet is an extra-constitution institution in the United States of America.
(b) It is simply an advisory body.
(c) Itis collectively responsible to the congress.
(d) The members of the cabinet quite often take part in the congress debates to defend the
policy of the Government.
Select the correct answer from the codes of given below :
(1) (a) and (c) (2)  (a) and (b) (3)  (b) and (d) (4) (), (b) and (d)
vous | NI ;




18. fr=Afafed #1 faam =% ok wdr Sl =1 = 3= &Y :
-1 qeEit-11
(@ ) ( &k )
(a) e fasmee () wFfea TefasH
(b) U = (i) R Heta fawd
(c) ToEmEmHT TRl (it) UeTd 31 SHERHT : T HHY TS WHRAY 31 ¥l o
ETAR|
(d) TFeE T, o™ (iv) FHFRfT HHCIIEA SR T ShaEd 9 L,
sThfesH TS STty
%<
(@ (b) (o) (d)
1 @) Gv) @ ()
(2 (v) @) @) (D)
G) @) @) o (v) (i)
4) (1) (@) () o (iv)
19. frefafed o § @ HH-1 98 78 © 2
(1) TSI Fehfd gt At Jgiaal 1 T 998 7 |
(2) sTifas HEpfd w1 STwIfde €9 9§ TLaT T {han S Hehal |
(3) USHIfde G&Ra 1 AL ARN 1 Y AR TeHITG TR Ik Ffad J9El R AN higd
FA R
(4) USHifas Hepfd § T qeumht e § S UsHifas THTsin
20. frefafaa @ fod < o srafire vfwat aai/ssal w et st &2
(a) HIF T U (b) o (c) fasreie d) eArefamn
1= ST 7T FH | WE I F =TI DL
< :
(1) () 3R (o) (2) () ¥R (d) (3) () ¥R (d) 4) () () ¥R (@)
21. frefafed & § ®9-9 FeA 9@ © ?
(a) HIF T TR H Hfere dfaemaR deen T
(b) IE WIURUM: THh FeARhR e 2|
(c) I W & gfd wrffess &9 F IR T
(d) hfere % TS SRR &1 Aifd 1 F=@ T & a0 H09 o846 § 9™ 979 odd 7
= T 7T Fel @ TEH ST FT I B
(1) (@) (o) () (a) ¥ (b) () (b) S (d) 4 (@) (b) ()
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22. Direct democracy is not possible in the modern times because :
(1) People are indifferent towards the affairs of state.
(2) Political parties are opposed to it.
(3) Propertied classes oppose it.
(4) Of the practical difficulties posed by the size and population of modern state.
23.  Who among the following has given “sleeping dogs’ theory of democratic culture ?
(1) Lucian Pye and Robert E. ward
(2) James S. Coleman and Myron weiner
(3) James C. Charlesworth and F.W. Riggs
(4) Almond and Verba
24. Who among the following has coined the terms “The stick’, “The deal’, “The kiss’, for influenc-
ing the decisions ?
(1) E.E. Schattschneider (2) Keith Boulding
(3) Robert Dahl (4) Kate Millet
25.  Which one of the following is a character of “Co-operative Federalism” ?
(1) A spirit of competition and rivalry between the centre and the state.
(2) Co-operation secured on the basis of strong centre.
(3)  Decentralization and more state responsibility.
(4) A spirit of co-operation among states.
26. Which one of the following practices is employed in the American legislative process in order
to delay a particular legislation ?
(1) Gerrymandering (2) Filibustering
(3) LogRolling (4) Spoils system
27. The power that makes the Supreme Court of America the third Chamber of the legislative
is:
(1) Original (2) Appellate (3) Advisory (4) Judicial review
g || 10 papeca



22. STMYFTF FIA § YAl Arhd HUd Tal § A
(1) N TF & FEF I S
(2) USHifae® Ta s folly & T
(3) Hufaemet ot gEet fodiy & €1
(4) STYMF T F SMHR IR TTHEA gRI AR FfSTRA % HROT |
23. fr=fafed & @ femm <eraite dopfa = wiftn sta’ fagia fean €2
(1) qfeas Wi iR T 3. a2
(2) ST TH. HIHT AR AEIA IR
() S €l Tcdad ok Th.esy, ™
(4) SfaHE SR AT
24. Tr=Afafed 9 9 fee foam-fogst =1 guifad & & fau ‘it fes’, ‘e S, ‘it fova’ wisgrarett et
8?2
1) 3.3 TeEEeR (2) sy AifeeT
(3) U Ted 4) e foee
25. frefafed § @ #17 @ ' gewrl HHerg’’ 1 Aa R ?
(1) = IR TF & o= gfaeadt IR gfagfgar &1 e
(2) TSEA g % YR W AN U R S €1
() faw=iao IR 77 # Afw Rt
(4) TEI & o9 WA T WIel
26. fodt faumm fovm A fada w01 & fow safert faurh gfwen # frafafea § @ 29 9@ vgfa st
St 72
(1) R 2) frfaaefa
(3) @ AfeEm 4) wma faww
27. omARE & I=AH <A S faenfasT w1 e e s 9Tt e €
1) ¥ (2) eTdefta (3) IRt (4) NI TREEER
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28. Who among the following has defined “political power” as the “relationship in which one
person or a group is able to determine the actions of another in the direction of the former’s
own end” ?

(1) Bertrand Russel (2) Habermas (3) Morgenthau (4) David Easton

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Bureaucracy is an important feature of all democratic governments.
Reason (R) : Bureaucracy is an ancient institution.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

30. Given below are two statements, one is labelled as Assertion (A) and the other labelled as
Reason (R). Identify the correct answer.

Assertion (A) : Comparative politics is a science of politics.

Reason (R) : Comparative politics relies on empirical method of study.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A)is false, but (R) is true

31. Match List-I with List-II and identify the correct answer from the codes given below :

List-I List-II
(Approach to study Indian Politics) (Name of Book and Author)

(a) Historical Approach (i) Parliament in India, Morris Jones

(b) Institutional Approach (i) The Integration of Indian States,
V.P. Menon

(c) Legal Approach (iii) The modernity of Tradition, Rudolph and
Rudolph

(d) Politico-sociological Approach (iv) The Republic of India, Allen Gledhill

Codes :
@ () (@ (@

® O G 6@ @
@ () O @) G
@ O @) @) G
@ G @ 6 @
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28. fr=Afafea & @ feem ¢ aoifas wfea’’ 1 T@ Heiy & w9 8 yRenfug fean & 5o s =afe o
g qeadl & RN & SR TE T HRATE &1 R w3 § gaef g 2

(1) 9T W (2) TIH™ (3) HRfeTS 4) <fae dw=d
29. = & e ey MU ¥, Tk 1 AU (A) S TH 1 qk (R) Fel W0 ey e 3 § A wd
I hT FIT DI :
AURT (A) :  TAnwel, Gl FAlehdiihT TR i HEeaqol forereed ¢ |
qeh (R) : AIHTIET Teh T TE T |
? .

1) (A) 3R (R) IH A ¥ 3R (R), (A) FT T&l TTHT T |

2) (A) 3R (R) I T §, TG (R), (A) FT Tel TTEH0T & |
(3) (A) THF ¥, T (R) 3T9A T

(4) (A) A T, T (R) T T

30. T T FUd fgu T €, U w1 AURYT (A) 3R T HI qeh (R) FE TAT ¥ | WS IW FT UgEGH
FHIT
IURT (A) :  ToIcHS ST, Trifa T famm 1

e (R) : qeTTcHh TSI, 3Tea i A fas Tgfd W AR #dt 7

%< :

(1) (A) 3R (R) TH T § 3R (R), (A) FT T&l TT<THT T |

2) (A) 3R (R) I T §, TG (R), (A) FT Tel TTEH0T & |

() (A) ¥ T, T (R) 19 |

(4) (A) 9 & Y (R) T |

31. G-I GeHI-11 § gafaa S 3R 919 ST 70 %l 1 Terd § 92 W ol 98dH ST

-1 qet-11

( VT TSI R ST (IEh 3R o o )

I % AT )
(a) Tferfas 3urm () felarde siiw sfean, wike S e
(b) HEINTA JURTH (i) TS 3RA &A% sfeam wam, di . o
(c) fafuss 3urm (iii) T3 AT ofw JShvM, Telch TS Feloh
(d) USHITdR-HrHTSh (iv) fg Rufsae &1fw sfean, e wefea

SUMH
< :

(@ (b) (o (d)
L @ @) @ @)
() @) @ @v) (i)
() @ () (v) (i)
(i) @) @ (i)
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32. The Constituent Assembly of India comprised of :
(1) 292 members from British provinces, 4 from Chief Commissionaires and 93 from Princely
States
(2) 294 members from British provinces, 4 from Chief Commissionaires and 91 from Princely
States
(3) 291 members from British provinces, 3 from Chief Commissionaires and 95 from Princely
States
(4) 292 members from British provinces, 5 from Chief Commissionaires and 92 from Princely
States
33. Match List-I with List-II and identify the correct answer from the codes given below :
List-I List-II
(Name of Philosophy) (Directive Principle)

(a) Welfarism (i) Promotion of cottage industry

(b)  Socialism (ii) Better health and living standard

(¢) Gandhian philosophy (iii) Promotion of international peace and security

(d) Internationalism (iv) Equal pay for equal work

Codes :

(@ (b) (o) (d)

O O @) @

() @) (@) @ ()

G @ @ @v) ()

4 @) (@Gv) @ ()

34. In which part and article of the Constitution of India, Fundamental Duties have been
mentioned :

(1) Part IV, Article 51 (2) Part III, Article 51

(3) PartIV (A), Article 51 (A) (4) PartIII (A), Article 51 (A)

35. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Choose the correct answer using the codes given below :

Assertion (A) : Ordinances provide minority governments with a useful device, but one
that is now increasingly difficult to convert into legislation once parliament
has covered.

Reason (R) : Recent coalition governments have used ordinances to avoid debating
legislation with their partners as much as with the opposition.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true
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32.

33.

34.

35.

pous |H||H|||\|H||H||H||||\IH|\||\IIHI“IHINIHII\IHII!

qRa 1 Gfaum g fr=fafea = mfre 2 o+

fafes widi & 292, < FHTR & &= & 4 iR w0 fomd & 93 ge=
forfes widi & 294, < FHTR & & T 4 iR <0 Fom=) @ 91 ge=
ferfew widi & 291, < FHTR & &= T 3 iR <0 Fom= § 95 e
fafes wial @ 292, <F wHTR & &5 ¥ 5 IR <30 et 4 92 9=

(1)
()
®3)
4)

Hit-1 1 G-I | Gafad #ifSe o == fau 7§20 6t werar § 9@ S H1 B=H Sy

TEt-1

( Tt T )
EISILCI
FHISETE
et gei
ERNIESRIEI

) () (9 (d)
(i) @) @
(i) @ @
(i) (@{dv) (@i
( (i

)
i)
) ()
iv) ()

(a
(i v)
(i v)
(i i)
(i i)

i)

=}

11

TEit-11

(v fagia)

FHR ST T e

IR W AR Sa-TR
TSI wIifd o7R FRaT i sera
HAM & 3g FHME o

IR & Hiau™ & ford am IR eg=se ¥ Hifels el %1 Sooid fhan T & 2

(1)

TR 1V, 3T3=3% 51

(2) W III, 31988 51

(3) HIV (%), AT=% 51 (F) (4) 9T (&), 3TT8% 51 (F)

= < e fou T ¥, U 1 MR (A) TR TH I Heh (R) FE TR | A U T e 1
FHT HE ST T T97 HIWT :

FRwT (A) -

e (R) :

< :

LAY STCTHA 1 TR 1 YA HEF YSH Fd &, T THE T & & e
W 3 faum & w9 H o7 ufafda w3 ST ®9 9 givea 2|

BT ohl ST HRRI A 30 FeAINMEl o Wy-wy fouer & @i ot faum
gefaere 9 e o fau ereamesn 1 SuE fhan 21

1) (A) 3R (R) A ¥ € 3R (R), (A) FT HEl TR T |
2) (A) 3R (R) I T §, g (R), (A) T Fel TT<TH0T & |
(3) (A) ¥ B, T (R) 379 B |

(A) ¥ §, T (R) ¥4 T
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36. Under which article/articles, the High Courts and the Supreme Court can issue writs ?
(1) Articles 44 and 45 (2) Articles 123 and 213
(3) Articles 32 and 226 (4) Articles 53 and 153
37. Identify the incorrect pair.
(Name of State) (Demand for New State)
(1) Gujarat Saurashtra
(2) Uttar Pradesh Gorkhaland
(3) Rajasthan Marupradesh
(4) Maharashtra Vidarbha
38. Which of the following Committee voiced concern about ‘Criminalization of politics and
politicization of criminals” ?
(1) Tarakunde Committee (2) Sachhar Committee
(3) Vohra Committee (4) Indrajeet Gupta Committee
39. The study of state politics as an autonomous discipline has been primarily an outcome of :
(1) Rise of regional parties (2) Rise of voter’s turn out
(3) New local governance system (4) Non-party political movements
40. Match List-I with List-II and select the correct answer from codes given below :
List-I List-1I
(Concept) (Thinkers)
(a) Multi-culturalism (i)  Friedrik A. Hayek
(b) Post-modernism (i) Bhikhu Parekh
(c) Libertariansim (iii) Amitai Etzioni
(d) Communitarianism (iv) Michel Foucault
Codes :
@@ (b)) (o) (d)
O O @ () G
@ G @) @ )
@) () O @ )
@ ) @ 0 G
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36.

37.

38.

39.

40.

frefafad 8 T =e/ ST=9dl & AdiTd Sed <y 3R Seaaq =raTerd ekt SIRE X Hehd

g2

(1) T3 44 3R 45 (2) TS 123 3R 213
(3) AT 32 3R 226 (4) STI=T 53 3R 153
AT 9 I G RIS |
(=T &I A ) (9T T HT HIT)
(1) T D U
(2) SWIYW L TREE
(3) USEAM &YW
(4) WHERE forgsd

frafafea & @ feg wfafa 3 ‘werifa & qqueietn i sroufusl & qoHifder’ & s o fedr
= i ?

(1) dRFve wiHfd (2) H=R HfHfd

(3) dreq |iafd (4) SESIq T it

WA I % &9 H TF i A 1 T8 Q&9 9 frAfafed &1 afom @
(1) &t <l 1 3 (2) #deH H gfg

(3) S T YA HaEd (4) R-TeE qeHIfTER TG

-1 1 -1 § FAfaa HIfg iR 7 fou 7 i 1 Terd § |l I H1 =T BT

-1 -1

( HeReuT) (feideR)
(a) TZ-HERfdaR () Thel@® T FF&
(b) FR-3IYfTRdTETR (i) +rg M@
(c) WIBEAAR (i) THIeR SRSt
(d) WHIEER (iv) FEHA Fohte
e

@ b © @
N6 @ G ()
2) (1) (@v) () (iii)
3) (i) (i) (i) (@{v)

i (it

iv)

(M) (@ (i)
(1M RA .




41. Which one of the following pairs is not correctly matched :
(Authors) (Books)
(1) S.M. Lipset : Political man : The Social Bases of politics
(2) Lenin : Neo-colonialism : The highest stage of Imperialism
(3) L. Anderson : Transitions to Democracy
(4) Charles Tilly : From Mobilisation to Revolution
42. Who was the Chairman of the inaugural session of constituent assembly ?
(1) Dr. B.R. Ambedkar (2) Dr. Rajendra Prasad
(3) Dr. Sacchidanand (4) Sardar Patel
43. Which of the following are statutory bodies ?
(a) University Grants Commission
(b)  Union Public Service Commission
() National Commission for Human Rights
(d) National Commission for Minorities
Select the correct answer from the codes given below :
1) @and® @ @Gand@©  (B) ©and(d) (4 (@) () and (d)
44. For the First time the communist party of India came into power in the state of :
(I) West Bengal (2) Tripura (3) Kerala (4) Goa
45. Which one of the following rights was recognized by the Supreme Court in the Selvy Case
Judgement (2010) ?
(1) Right to Mental Privacy
(2) Right to purchase property in Jammu and Kashmir
(3) Right to form pressure groups
(4) NOTA (None of the above)
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42.

43.

44.

45.

pous |H||H|||\|H||H||H||||\IH|\||\IIHI“IHINIHII\IHII!

frefafaa § @ #9-1 78 gafed & 82
(TEF ) ( TETF )
W fa@e Tifafesra #9 : fe Soa 99 3% difafead

wf= : M-SRy : g SRR WS Ah sHRATTaed

g

2
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3) Tl TSTEA : SO E < SHIsHH

ared feeft : IR ERIESNEICRICIRR N

)
)
)
4)

frefafed § & & dfaum™ 991 & 3o 95 & 7598 o ?
(1) = 913N et 2) <M. TS= TR
(3) =l "feagH=< (4) &R 9

frfafes § § F wifatas fm §2

(a) Tova faeme™ etqeM oM

(b) EH Ik Hal AN

(c) TS IETTRT ST

(d) UL AcaHSAS AR

= feu MU i @ W& WA ¢

(1) () 3R (b) (2) (b) IR (0) (3) () ¥R (d) 4) () () ¥R (@)

FRYfe Wl A sfrean yrd # weelt ar forq T | ww H a1l ?
(1) Hf¥=m s 2 B (3) & (4) Ten

STadH AT R Heat 7 § feu T 9 (2010) # F=fafed § 9 feg sifyer i a4 geH
H TS ?

(1) wFAfEe TSt 1 iR
(2) - IR HYHR § Hufd @led 1 SR
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46. Arrange the following phases in the evolution of public administration as a discipline in
chronological order using the codes given below :
(a) Ecological approach
(b) Principles approach
(c) Politics-Administration dichotomy
(d) Public Policy approach
Codes :
1) © @ @), ® @ © 0) @, @
3)  ®) ©) (@) @ 4 (© (), @) ()
47. Match List-I with List-II and select the correct answer from codes given below :
List-I List-II
(Books) (Authors)
(a) Frontiers of Development Administration (i)  Braibanti
(b) Political and Administrative Development (ii) Ferrel Heady
(c) Bureaucracy and Political Development (iii) Fred W. Riggs
(d) Public Administration : A Comparative (iv) J. La Palombara
Perspective
Codes :
@@ () (o (d)
O G ) O G
@ ) O ) G
@) () @) @) )
@) ) @ @) 6
48. Which one of the following statements about systems approach to organisation is not
correct ?
(1) Itis derived from one general systems theory
(2) It leads to certain fundamental principles of organisation
(3) It studies the organisation as a whole in relation to its environment
(4) It views the organisation and its environment as interdependent for inputs and
resources
vous AN 2 papeca




46. < QU T e &1 ITANT FId gY, TET & €9 H dleh GO o foee § Fefafad =2l @ w@

FHIcTshH H T8

(a) oTRfEfaenta U™

(b) THgT SUTH

(c) TSI gemea fgwrsm

(d) ik ifd 3amT

e :

1) (0) (a), (d), (b) 2)  (9) (b), (d), (a)

G)  (®) (0) () (d) 4)  (9) (b) (a) (d)
47. G-I G-I Q GAferd RIS o) 9 fou o g2 & 9wt <ot 1 591

-1 -1
(q&T ) (@ )

(a) Thicad SATF SaCIIHTE TEHMEYH () St

(b) wifafeswha o Tefafrefea Saamm= (i) @ e

(c) “AUHKH TS Ulfciicehd SATIHTE (i) e Ty, Tow

(d) U TN : T Fwrifca qHufad (iv) . T qTer

% :

@@ (b)) (9 (d)

1 G Gv) @ ()

(2) @) @) o (@v) (i)

G) @ (@) G ()

(4)  (v) () (D) ()
48. WA % fog een 3uMH & aR § frefafad § 9 ®H-9 T H97 9 7T § 2

(1) = 9 =ae f9gia 9 foran S g

(2) IE GSA % Hfaqd Hifasws fagidl wt 3R & S 71

(3) I% TWI ®Y W TS H 3Hb URAY & Ty H 12T HIAl ¢

(4) % GTST AR U ARG Hl AN IR HAEAl o fAT WER o1fHd % €9 H <@ B |
oz [ NIIMAUAANIN 1 —




49. In his ‘Principles of administration’, Pfiffner did not include :
(1) Material and supply (2)  Functions and powers of local authorities
(3) Methods and procedure (4) Administrative accountability
50. ‘Public Choice Approach’ to public administration came into existence in the :
(1) 1890s (2) 1920s (3) 1940s (4) 1960s
51. Who has analyzed leadership in terms of ‘circular response’ ?
(1) L. Urwick (2) H. Simon (3) C.I. Barnard (4) M.P. Follett
52.  Which one of the following is not a feature of Barnard’s theory of formal organisation ?
(1) General incentives (2) Common purpose
(3) Communications (4) Willingness to cooperate
53. Which one of the following committees dealt with political activities of civil servants in
Britain ?
(1) Mastermann Committee (2) Plowden Committee
(3) Assheton Committee (4) Northcote-Trevelyan Committee
54. Consider the following statements and choose the correct answer using the codes given
below :
The Civil Service Reform Act 1978 of the United States of America introduced :
(a) Performance budgeting system
(b)  Merit pay provision for middle managerial personnel
(c) Performance appraisal system
(d) Office of Personnel Management
Codes :
1) @ @and(d) 2 Oand@d  (3) () (©and(d) @) (a)and (@
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49. TYHER T oA fufduey ot tefteym’ # fefafead § 9 feaes! wmiha T8 foan ?
(1) | SR emyfd (2) TR WieREr & wr SR wfwar

3) usfaar o ufswan (4) TRIEE SereraEt

50. o 9IEA & ‘Ufeete =gyt fhg Twie | etfia | et ?

(1) 1890 %1 &9k (2) 1920 &1 €9k (3) 1940 H1 €W (4) 1960 T I

51. o g o1 faveroo ‘gger Yo’ & w0 H fHan g2
(1) Td. gl (2) TH. GEEA () HLE sAE (4) AL Wi

52. foefafgad § @ = 9@ So=nfie 98T & 9 § oFie & fagid i foasmear 6t § ?
(1) |E= S (2) | WS
(3) HIR (4) TFTIM F HI TS

53. frfafea & & &R o 9fafd faeq & Aengl &1 UsHifae fafafal 9 defeg of 2
(1) wr=Ts wfafa (2) Red wiHfd
(3) TR |iHfd (4) FTdHE-Taean gfhfd

54. frefafed ol W fomm FifT qean = fST T % 1 910 R @ SR & F91 HiT
g {9 SRR & AW Fol gur ifuf=m 1978 7 SRt fovan ¢
(a) ToAIEA SsTe gored
(b) TEH YSUHIT FHIHEI & A AFId I w1 JEE™=
(c) Toare qeuriw gomedt
(d) =HIHE Feier 1 FrAferd
%< :
1) @ ©3IR@ (2 (O @) b ©INE @ (@I
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55. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Choose the correct answer using the codes given below :
Assertion (A) : “Henri Fayol identified five elements as the primary functions of
management activity.”
Reason (R) : According to Henri Fayol, “knowledge of administration is needed at higher
levels of an organisation, rather than technical knowledge.”
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A)is false, but (R) is true
56. Functional specialization in the Indian Administrative service was recommended by :
(1) First Administrative Reforms Commission
(2) Satish Chandra Committee
(3) Appleby Report
(4) Sarkaria Commission
57. ‘Delegated legislation” is not :
(1) Subordinate legislation (2)  Executive legislation
(3)  Ordinance making power (4) Rule making power
58. Match List-I with List-II and choose the correct answer using the codes given below :
List-I List-1I
(Citizen’s grievance redressal) (Countries)
(a) Procurator system (i) France
(b) Administrative Courts (i) Russia
(c) Ombudsman (iii) Britain
(d) Parliamentary commissioner (iv) Sweden
Codes :
(@ (b) (o) (d)
M ) @ @) 0
@ G O @) ()
@) O ) (v G
@ O @ G
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55. = HUF U T E, TH I ATURYT (A) R TE & ek (R) Fe T 7| A= I TT e 61 7100
L HE I AT
afirere (A) : ' WiEE 3 yeEH Tfafafy % 9@ w1 % T § 99 qol B TgaH Hi
qh (R) : e Tiad o TIER ' fRdl HeA & I W Th-ie! I i STH YmETeh
M T STEeTRal gt g1
%< :
(1) (A) 3R (R) IH A ¥ 3R (R), (A) FT F&l TTEHT T |
(2) (A) 3R (R) THT 9 T, TG (R), (A) FT el TR &l ¢ |
(B) (A) ¥ T, T (R) 9 |
(4) (A) A T, T (R) T T
56. R TRMES Ha1 | wafes favmmal & fawier fefatea § 9 feas g &t 1 off 2
(1) 9| YT R ST
(2) Hdtw =g wfafq
(3) Uwerst R
(4) HIRIEAT AN
57. ‘yed faum’ & €
(1) ey faema (2) wrEER fawma
(3) AR oM I WK (4) 7w s = wfw
58. -1 T &I Geil-11 § afera i iR A= ST T e &1 I :3d g0 9 S T4 ¢
-1 Tei-11
(ATfer foreRTaa framor ) (39T)
(a) SRR Jomct @i W
(b) IRMER =TT (i) ®H
(c) SrgEEHT (iii) fored
(d) HEEH FH (iv) w@req
<
@@ () (o (d)
1) @) @) o (Gv) ()
(2 G (@@ (v) (i)
G) @ () (v) (i)
( i) (iv) (i)

N
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59. The system of Efficiency Rating for scientifically assessing the performance of public officials
for promotion first originated in :
(1) China (2) Japan (3) U.S.A. (4) UK.
60. Ashok Mehta Committee in 1977 recommended for the establishment of :
(1) Nagar Panchayat (2) Panchayat Samiti
(3) Maha Panchayat (4) Mandal Panchayat
61. Who among the following is associated with the concept of Realistic Liberalism ?
(1) E.H. Carr (2) Robert Byrd (3) George Kennan (4) John Herz
62. Bachract and Baratz have mentioned about the three classes of International Relations to
control the conduct of states. Which of the following are the three classes ?
(a) Influence Relationship (b) Force Relationship
(c) Legitimate Relationship (d) Power Relationship
Select the correct answer from the codes given below :
(1) () (and (d) (2) (a)(c)and(d) (3) (d) (c)and(b) (4) (b) (c)and (a)
63. Which one of the following books was written by E.H. Carr ?
(1) The open society and its enemies
(2) Twenty years crisis
(3) Political Realism and Political Idealism
(4) The Realities of American Foreign Policy
64. Frants Faron was the first scholar to use the term “Third World”. To which country he
belonged ?
(1) France (2) England (3) Algeria (4) Egypt
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59.

60.

61.

62.

63.

64.

rous [HFITHIAUR RN

TR o fau @i STfeRial o wrl-fsaed 1 o €9 § Jeaihd & o fau g&a 'R
Frefeor =1 gomedt 1 SqWd B3

1) ==d (2) STOEH (G) JTETH 4) I* ¥

1977 § 319k Hear 9fffq 3 fFefafaa § 9 faaest Taraar =i fawifier =1 et ?
(1) R 9=mEd (2) HEEd "Afd

(3) HEl g=Ed (4) Hed Y|

fr=fafaa § @ =F et STRAER i GHedT ¥ 96 § 2
(1) 3TE &R 2) Tae IS (3) SISt e (4) SHEHA

IR 3R Seg 3 T & AR R & fou AR gaei & o anf &1 Seorw fhan 21
frefafed § @ &9 9 9 =7 €2

(a) TuTE Hey (b) & HaY

(c) 99 gay (d) vif day

I U 7T el # T & IW H =TI HIWC

M ®), @I 2 @ @M @) @ © FRE) @ (®) (3@

3=, FR A fefafed § @ =0 @ s fodt 872
(1) T 9 G e g2 uH

(2) T A wrRfEE

(3) Tdifadea Rufasw T wiadea smefeufeasn
4) T Rufads aifw safe B gt

2

4
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65. Which of the following pairs is not correctly matched ?
Author Book
(1) William C. Olson : The Growth of a Discipline
(2) G.F. Kennan : American Diplomacy
(3) Russel H. Fifield : The Introductory Course in International Relations
(4) Robert Strausz-Hupe : Intenational Relations : A General Theory
and Stefan Possony
66. Who condemned Non-alignment as a selfish policy ?
(1) Morgenthau (2) William Johnstone
(3) Schwarzenberger (4) Edward Crankshaw
67. Who among the following are supporters of Realistic Approach in International Politics ?
(a) Couloumbis and Wolfe (b)  Fredrick schuman
(c) Nicholas spykman (d) E.H. Carr
Select the correct answer from the codes given below :
1) ) (©@and(d (2 (@) @and(d) (@) (), (b)and(d) 4) (a), (b)and (©)
68. Who among the following had declared that arms race in itself is experience of terror ?
(1) Hadley Bull (2) Arnold Toynbee
(3) Kenneth Boulding (4) Lynn Miller
69. Which of the following countries was a part of recently concluded P5+1 Nuclear
Argument ?
(1) Japan (2) Australia (3) India (4) Germany
70. Which of the following is not a form of National Power ?
(1) Social Power (2) Military Power
(3) Psychological Power (4) Economic Power
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65. frefafed # @ wFw v wdt &1 @ gafea & 2 2

T KD
1) faferm =t sfieem . Ty o U fefafer
(2) STE & : AT fewmad
() Wd . frhiee : T ZEeded Hid 3 SerivHe Rervig
(4) T WA - g9 A0 LHA TEAT geYHA Relvid « T S et

66. THa T2 FRUsET &t T et fifa & €9 7 STrere &t oft ?
(1) TR ) fafem 97 =[
QIR EISEEST (4) TEIE

67. Tr=fafea § 4 #iF Aqisa ToHifa | Feneferdt summ & a2

(a) IS IR dicth (b) el A
() TioicE s (d) I FR
= fou T Ff § ¥ Wl W H g

1) (), @I 2 (@ @I @) (@), OIRA @ (@), (b)3MW()

68. fiefafEd o & forem =roon &1 of for vl &1 2g o197 319 § 31Ideh 1 319 2IaT 2
(1) et o 2) TS AT
(3) Y Afeen (4) fo= faer

69. frAfafed § @ &F 1 < ea B fFy T P5 + 1 T I9sia &1 T 7 o1 ?
(1) SmH (2) smefern (3) 94 (4) A

70. TrAfafed § @ «F @1 TR i &1 TF €9 @6 © 2

(1) S v 2) Hfrw vl
(3) AT vt (4) et wfsm
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71. Which of the following countries is not a member of SAARC ?
(1) Maldives (2) Myanmar (3) Nepal (4) Afghanistan
72.  Which of the following scholars of International Politics did not subscribe to this view that
no social science can survive without idealistic aspects ?
(1) Herbert Butterfield (2) E.H. Carr
(3) Reinhold Niebuhr (4) Arnold Wolters
73.  Which of the following is also called as Total Disarmament ?
(1) Qualitative Disarmament (2) Quantitative Disarmament
(3) General Disarmament (4) Comprehensive Disarmament
74. Who stated that, “International Politics includes analysis of political relations and problems
of peace among nations” ?
(1) Charles Scheichar (2) Norman Padelford
(3) Harold Sprout (4) H.J. Morgenthau
75. Which member State of ASEAN had joined this regional organisation in 1999 ?
(1) Laos (2) Myanmar (3) Combodia (4) Vietnam
-00o0-
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71. Trefafed § 9 &H 91 <9 91k %1 959 1@ § 7
(1) Hec (2) MR (3) 9 (4) STEMHEE
72. A UsHIfG % Frefafed feg fagm 7 39 foar =1 weadt 72 &t fo stesfemet weest & fom
g oft g fomm stfeder & o1 el @ Tl |
(1) el FeTwee 2) ETE R
3) fees fae 4) THIee diced
73. Trefafed § @ fea qof fresfieon off e S 82
(1)  TomeHe s (2) A TR
(3) M TSR (4) ATH TR
74. TreAfafaa o @ fFge wem ® ¢ il qorifa § Ul & s wifd ) guenedi iR qeiHifaes
e w1 fagera foran S g’ ?
(1) =red weff= 2) A TEwE
(3) TS W= (4) TAS. AU
75. ‘UMM’ % fR9 = U A 99 1999 § 39 &G WIS &1 GSwdl UgUl i 2
(1) g (2) HER (3) wHEteAm (4) foadam
-00o0-
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